UG/6th Sem (G) /22 (CBCS)
U.G 6th Semester Examination 2022

PHYSICS (General)

Paper Code : SEC 4

Foll Marks : 40 Tme - Tvo Howrs
Answerall questions. 2= 20=40
Choose the correct option.
L Wind turbines convert mechanical energy to

[l

s

(a) heht eneroy
(b) =lecmeal enerey
(c} hear energy
(d) Solar enerzv

. T o Ty Tl e CE TAERS TH

(a) WTHRY =

(b) THHET wiE

(¢} Si7i=

(d) ot

Which of the following i1s a sowee of non-comentional energy 7
(a) Wit

(b) Namural Gas

(c] Coal
(d) il

. siiea als mzEfEE «fen T ¢

(@) I
(b) =fFTEs iy
(¢} =F7=

(d) =5
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What 15 tidal power ?

(a) Enerzy from tides

(b) Enerzy from water

(¢} Eneroy from Moon

(d) Energy from Sun

(amm =fE = § aEE ¢
(a) CHEE i 4 e
(b) ‘&= e 2 =fe

(c) 5@ e =gy =fe

(d) 3 o 4 =fe
Which of the following nipes of coal has the most carbon content 7
(a) Biurmnous

(b) Lignte

(c) Pea

(d) Anthracite

. WA (i AT SIS S SEE A e

(@ R
(b) T@emED
(@ 5

(d) gHUAES

: “‘hmh@fth:foﬂmrmgcmh&dasmﬁadmdamhdhmmT

(a) Plastic

(b) Amnculmral residues

(€) Waste water

(d) Indusmal effuents mio rivers
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. W (AETE) ATIH CUGF T L (e = 5 —

(a) oios

(b) FF =

(¢) OmEgl e

(d) fere @z s e
Buming of Fossil Fusls Results m —
(a) Increased oxypen level

(b) Decreases greenhouss gases

(¢) Increased sreenhouse sases

(d) Increased ethane level

(a) =Rz ETem e
(b) Femrea iHag el & 3
(c) FiemsH g sffeawE g o

(dy Zrem @ces 9 «m

7. A solar cell convens lisht enersy mto —

(@) Heat ensrgy

(b) Themmal energy
(c} Sound energy
(d) Elscmcal energy

(a) =il e
k) waH e
(e} = i
(@) Ty wfe
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Senes and parallel combinstions of the solar cell are known as
{a) Solar eve
(b) Salar amay
(c) Solar light
(d) Solar sight
(TR (A S5 SR SEEAE TN 96 =W —
(a) (AWFE EE
(b) CHAFR s
(c) oot =HIED
(d) cA1=Ea AEh
Matenial used for making solar cell is —
(2) Sodum
(b} Cazbon
(c) Silicon
(d) Magnesium

. (FEE e Teans AiaE Sewe 55 —

(a) CAfTEE

(b) W

(c) Tfmas

() =isTaR

Full form of FF in the solar field is —
(a) Foam factor

() Fill factor

(c] Eace factor

(d) Fir= factor




(2)

so, ERE s mwiE FE &3 o8 o 7 —

(a) 7% F5a
(b) e BT
(¢) % T3

(d) TR T

In which state of India lareest wind enersv farm is located ?

(a) Mazharacshtra
(b) Gugeat

(¢) Tamilnadu
(d) Rajasthan

§Y. TELEE GO A0 AALEE TEAET A SEe ¢

33,

(a) w=EE
(b) wwEb
() wfEFETy
(d) AT

Salar enierzv &
{a) Non-Renewable
(b) Exhauénble
(¢) Non-Comventional
(d) Conventionat

(@) ==wErAElT
(b) PriEee

(@) =S

(dy @5fFe

source of ensrov

wifam Be |
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(a) fresh water algas

(b) bodies of dead ammals

(¢} manne orgamems

(d} tree tronks, lemves and heshwater piants

s = o o T e S Qe S ST T —
(a) T =tfem wmem

(b) Glawge JEE 4

(c) #nfEs &

(d) mman &fE, wre g G A S

All of the following forms of encrgy can be harvested except —
(a) Solar

(b} Thennal

&) Picsselecrs

(d) Water

Sites e «f@T FeT (harvest) T 29 W ¢

(a) A=

by S

(c) “RTEEE g

(d) =

{a) Isotropic

(b) Amisotropic

(e} Large m Magumade
(d) Dommanng

. Coal. a common fosst! fuel, 15 formad from which of the followmg tvpes of orzenic mater ?
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(7)
SETEETIET T8 T

(a) =EAG
(b) WETELFGIoRE
(¢) =fae W@

(d) wfeaarm

The prezoclecine matsrials usad for converting energy are called as
(a) Tramsihon Devacss

(b) Converter

(¢} Dislecme

(d) Transducsr

AETTRF 5 Coe (WS WTEs FeirEe S0

(a) EWIEs 9%

(b) FeFaEHE
] TEGF

) e

TWhat happens fo wind speed when many turbines operate collectively 7

fa) wind speed moreases

(b) wind spesd reduces

(¢) wind speed doss not change

(d) wnd speed moreases exponentially and then decreases linearly

et WU SR R B I o S R H ofirds o
(a) =remFa wferas i o

(b) siferas ¥ =

(@) = +ifeda == =

(dy eurs =eafers i 4 g2 TaREmEe =
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What 15 the mam disadvantase of a honzentnl =s wind turbine 7
(a) Easy operafion at near sround wands.
(b) Does nor seifstant
(c) Dhfficult operatian at near sround winds
(d) High starnng torque
Wind 5i9fEw 47 Teefas wrea 0o w7 —
(a) EETHY ANTE HiEwE o TEw
(b) T cera SIS S AR A
(c) Eofrba Are blewl &l ya wha
(d) =& THIAR OF
Which of the following is a problem with a seothermal resource ?
(@) Noisz pollution
(c) Pallotng water
(d) Bsversme damass to wind life habual
ez (e TS SaE 49 TH e ¢
(@)
(b) T sam FeErew g e

(c) = T

(d) ATl ARTETT AR

Which of the following poliutants are emitted by the burming of fassil fael 7
(a) cides of carbon, nitrogen and sulphur

(b) axides of carbon, wramum and radnum

(e} calcum hehdes-and condes of mitrogen

(d) noble gases
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so. TG GE] wEEE W A wee e e Ew e

(a) Flmn SHEE. LT G A
(b) FEE TWEE, SELAPEE W FoEE
(¢) R TFEE 9oy AREUEFY THEE

(d) @S A




